

$$(\cos x)^{2m} = \left(\frac{e^{ix} + e^{-ix}}{2} \right)^{2m} \quad \text{binom. v. l.}$$

$$= \sum_{k=0}^{2m} \binom{2m}{k} \frac{1}{2^{2m}} (e^{ix})^{2m-k} (e^{-ix})^k$$

$$= \sum_{k=0}^{2m} \binom{2m}{k} \frac{1}{2^{2m}} e^{ix(2m-2k)}$$

$$= \sum_{k=0}^{m-1} \binom{2m}{k} \frac{2}{2^{2m}} \frac{e^{ix(2m-2k)} + e^{-ix(2m-2k)}}{2}$$

$$+ \binom{2m}{m} \frac{1}{2^{2m}} \cdot e^0 = \cos(2m-2k)x$$

Takže

$$(\cos x)^{2m} = \frac{\binom{2m}{m}}{2^{2m}} + \sum_{n=1}^m \frac{2 \binom{2m}{m-n}}{2^{2m}} \cos(2nx)$$

$$(\cos x)^{2m+1} = \left(\frac{e^{ix} + e^{-ix}}{2} \right)^{2m+1} \quad \text{m\u00f6gliche Binom. v\u00e4hlen}$$

$$= \sum_{k=0}^{2m+1} \binom{2m+1}{k} \frac{1}{2^{2m+1}} (e^{ix})^{2m-k+1} (e^{-ix})^k$$

$$= \sum_{k=0}^{2m+1} \binom{2m+1}{k} \frac{1}{2^{2m+1}} e^{ix(2m-2k+1)}$$

$$= \sum_{k=0}^m \binom{2m+1}{k} \frac{2}{2^{2m+1}} \frac{e^{ix(2m-2k+1)} + e^{-ix(2m-2k+1)}}{2}$$

$$= \cos^{+1}(2m-2k)x$$

Tak\u00e4t

$$(\cos x)^{2m+1} = \sum_{n=0}^m \frac{2 \binom{2m+1}{m-n}}{2^{2m+1}} \cos^{+1}(2n+1)x$$